INSTALLATION INSTRUCTIONS

Extra Parts Bag for Single & Two Stage Gas Furnaces

It is necessary to vent this furnace according to the methods described in the Venting Requirement section of the
furnace installation instructions. Please refer to the installation instructions for proper usage of the listed parts.
Before permanently installing these components, it is recommended you dry-fit them first to ensure proper fit and
alignment with other vent pipes.

EXTRA PARTS BAG FOR *G7 / *GC2 (SC, SL, SM,TL) EXTRA PARTS BAG FOR *G7 / *GC2 (SD, TC)
FURNACES - P/N M0001112 FURNACES - P/N M0001113
PART PART
NUNEBER DESCRIPTION QUANTITY NUMBER DESCRIPTION QUANTITY

600364 | #10, 1-1/4" Inducer Screw
606286 | Hose Clamp

631758 | Strain Relief Bushing
632261 3 Amp Fuse

663115 | 2" PVC Tee

663894 Connector, Union, 1/2” x 3/8”
663989 1/2" Barb x 3/4" NPTF Connector
664633 Inlet Air Finish Flange
664659* | PVC Trap (See Note)
664886 14.5” Drain Tube

689089 | 7/8"ID Gas Line Grommet
690074 | 2-1/4" 1D Vent Grommet

690094 | 3/4" ID Condensate Grommet
Table 1. Extra Parts Bag Contents - M0001112 690101 | 3-1/2" OD Finish Flange Gasket

600364 | #10, 1-1/4” Inducer Screw
606286 | Hose Clamp

631758 | Strain Relief Bushing

632261 3 Amp Fuse

663894 | Connector, Union, 1/2” x 3/8”
663989 | 1/2” Barb x 3/4” NPTF Connector
664633 | Inlet Air Finish Flange

664886 | 14.5” Drain Tube

689089 | 7/8” ID Gas Line Grommet
690074 | 2-1/4” ID Vent Grommet
690094 | 3/4” ID Condensate Grommet
690101 3-1/2” OD Finish Flange Gasket

NG QY QY [NIFQ [IFQ [IFQ) [JIFQY JUIFQH NG NIFQY NG Y

Alalalalalala]la|la]lala]la]la]—=

NOTE: Not for use in 92% furnaces. Contact your local distributor for
correct PVC trap

Table 2. Extra Parts Bag Contents - M0001113

2” PVC Pipe from
Inline Drain Assembly

690094 3/4” ID Condensate Grommet

|
PVC Trap—»%b o 77 _ 690101 [ 3-1/2” OD Finish Flange Gasket
1/2” Tubing
(F

ield Supplied) 669718 Orifice, Inducer (0.75) *G7SM-054D-T24B1
1021493 | Orifice, Inducer (0.84) *G7SM-072D-T35C1

(Not Included) . . .
Typical Orientation EXTRA PARTS BAG FOR *G7SM-054D-T24B1 &
_— *G7SM-072D-T35C1 FURNACES ONLY - P/N 1032980
! - <«—2"PVC Tee
\ PART
| w‘ NUMBER DESCRIPTION QUANTITY
! %} h ﬂﬁv 600364 | #10, 1-1/4” Inducer Screw 1
! 1/2" Tubing
: x (Field Supplied) 606286 Hose Clamp 1
| 631758 Strain Relief Bushing 1
= PVC Trap
il 632261 3 Amp Fuse 1
| 663894 | Connector, Union, 1/2” x 3/8” 1
} o 663989 | 1/2” Barb x 3/4” NPTF Connector 1
/ o | Alternate Orientation 664633 | Inlet Air Finish Flange 1
0 o 2 Pv‘f TEE 664886 | 14.5" Drain Tube 1
. b (ﬁ 689089 | 7/8” ID Gas Line Grommet 1
. @ - {7 J=<—2"PVC ELBOW .
g | (Field Supplied) 690074 | 2-1/4” ID Vent Grommet 1
1
1
1
1

Table 3. Extra Parts Bag Contents - 1032980

e

Specifications &illustrations subject to change without notice orincurring obligations (05/20). 1032982A
O’Fallon, MO, © Nortek Global HVAC LLC 2020. All Rights Reserved. (Replaces 10329820)




NOTICE D’INSTALLATION

Sac de pieces de rechange pour fournaises a gaz mono-étage et bi-étages

Cette fournaise doit étre ventilée conformément aux méthodes décrites dans la section Exigences en matiére de
ventilation des instructions d’'installation de la fournaise. Se reporter a la notice d’installation pour une utilisation
correcte des pieces listées. Avant d’installer ces composants de fagon permanente, il est recommandé de les
monter a sec pour garantir leur bon ajustement et alignement avec les autres conduits d’évent.

SAC DE PIECES DE RECHANGE POUR FOURNAISES SAC DE PIECES DE RECHANGE POUR FOURNAISES
*G7/*GC2 (SC, SL, SM, TL) — N° PIECE M0001112 *G7/*GC2 (SD, TC, MQ) — N° PIECE M0001113
NUMERO - NUMERO -
DE PIECE DESCRIPTION QUANTITE DE PIECE DESCRIPTION QUANTITE

600364 Vis d’inducteur n° 10, 1 1/4 po 1 600364 Vis d'inducteur n° 10, 1 1/4 po 1
606286 Collier de tuyau 1 606286 Collier de tuyau 1
631758 Bague de délestage 1 631758 Bague de délestage 1
632261 Fusible 3 A 1 632261 Fusible 3 A 1
663894 Connecteur, raccord-union %2 po x 3/8 po 1 663115 Té en PVC 2 po 1
Connecteur NPTF de raccord cannelé de 663894 Connecteur, raccord-union %2 po x 3/8 po 1

663989 % po x 3/4 po 1
- — - — 663989 Raccord cannelé de %2 po x 3/4 po 1

664633 Bride de finition d’air d’admission 1
664633 Bride de finition d’air d’admission 1

664886 Tube de drain de 14,5 po 1
- - 664659 Siphon en PVC 1

689089 Passe-fils pour conduite de gaz 7/8 po 1 -

D.l. 664886 Tube de drain de 14,5 po 1
690074 Passe-fils de 2 1/4 po D.I. 1 689089 Passe-fils pour conduite de gaz 7/8 po D.I. 1
690094 Passe-fils pour condensat 3/4 po D.I. 1 690074 Passe-fils de 2 1/4 po D.I. 1
690101 Joint du bride de finition de 3 1/2 po D.E. 1 690094 Passe-fils de 3/4 po D.I. 1
690101 Joint de bride de finition 3 1/2 po D.E. 1

Tableau 1. Contenu du sac de piéces
de rechange — M0001112 Tableau 2. Contenu du sac de piéces
de rechange — M0001113

SAC DE PIECES DE RECHANGE POUR FOURNAISES
*G7SM-054D-T24B1 ET *G7SM-072D-T35C1
SEULEMENT - NO PIECE 1032980

Tuyau en PVC de 2 po a
partir de 'ensemble drain
en ligne (non inclus)

Orientation typique NUMERO e ST

DE PIECE
@‘—Te en PVC 2 po 600364 | Vis d’inducteur n° 10, 1 1/4 po
606286 Collier de tuyau

1

1

%:. 631758 Bague de délestage 1
Em—Tuyau 112 po 632261 | Fusible 3A 1

1

(fourni sur place) 663894 Connecteur, raccord-union 2 po x 3/8 po

Si hon en PVC .
P 663989 ngzzteur NPTF de raccord cannelé de %2 po

664633 Bride de finition d’air d’admission
664886 Tube de drain de 14,5 po
689089 Passe-fils pour conduite de gaz 7/8 po D.I.

TE EN PVC 2 PO

\
|
|
|
|
|
|
|
|
|
|
=l
|
|
|
|
\ Autre orientation
|
:
L_

alalala]la]la]lal=

l 690074 Passe-fils de 2 1/4 po D.1.
- \@ B @«COUDE EN PVC 690094 Passe-fils pour condensat 3/4 po D.I.
DE2PO 690101 Joint du bride de finition de 3 1/2 po D.E.
(fourni sur place)
%) 669718 | Orifice, D'inducteur (0.75) *G7SM-054D-T24B1
Siphon en PVC—- Tuyau 112 po 1021493 | Orifice, Dlinducteur (0.84) *G7SM-072D-T35C1
(fourni sur place)

Tableau 3. Contenu du sac de piéces

de rechange — 1032980

Spécifications et illustrations sujettes a changements sans préavis ou sans aucune obligation. 1032982A
(05/20) O’Fallon, MO, © Nortek Global HVAC LLC 2020. Tous droits réservés. (remplace 10329820)




